Cs-137 on a sphere in1 m distance decay time: 10s

“5-0: USR-1D blocks 25 +‘ lgiﬂ“ &:‘,1 -0: USR-1D blocks 25 s_ !P-! l"‘:"i"@'n
USR-1D blocks 25 USR-1D blocks 25
—_ 0,7 3
NQ Tetector 1 —— z Detector 1 ——
E [} ~
G 0.6} € —
= S|l st
<, =
€ 0.5F b=
g g 4
S fun
O |l o4 3
| 5l
Il o3} | !
| 2F
0.2F ‘
|
| 1f
Energy[GeV Energy[GeV
e = i : . ; gy_[ ) [ Al ; ; ; ; ; ; gy.[ )
0,0005 0,001 0,0015 0,002 0,0025 0,003 0,0035 0,004 0 0,0005 0,001 0,0015 0,002 0,0025 0,003 0,0035 0,004
0.767664 L 0,00209550, _4,39030 -
I S ]
55Cs 137 (3017 8 - &3 -0: USR-10 blocks 17 l l ] !L- Z"Eh
N USR-AD blocks 17
\ Detector 1 ——
\ =
A—n 511484 4%) c
\ % e 0.1
\\- ':
X S
\ LN =
% £
112- 0.01
\ 56Ba 137m (2.55 ) 8
i 17&’5 B2%) Q=0.511 WeV O
\\ 0,001
\ Iy 0,652
\\ 0,0001
‘.
\
Energy[GeV}
4 e 1e-05 . i
56Ba 137 Stanie) 0 0.,0005 0,001 0,0015 0,002 0.0025 0,003 0,0035 0,004
Q=1.173 MeV 0,00227083, _3,13533

12/09/2013 Reiner Geyer: Calculations with Actiwiz 167



